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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version Authentic
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What is Modulation? What is the need of it?
What is Noise? Explain Harmonic Distortion in brief.
Draw and explain the block diagram of Super heterodyne AM radio receiver.

Derive the voltage equation of DSBFC AM wave. Show the waveforms and

frequency spectrum of it.
Compare High Level and Low Level Modulation.

OR
The current of transmitting antenna of an AM transmitter is 20A when only
carrier is sent, but it increases to 22A when modulated by a single sine wave.
(a) Find modulation Index (b) If another sine wave simultaneously modulates
the carrier to the depth of 507 , Determine the antenna current .

List advantages, disadvantages and applications of FM
Draw and explain the block diagram of Armstrong method used for FM
generation

OR

Explain Pre-emphasis and De-emphases networks.

A carrier of 10V amplitude and frequency 90 MHz is frequency modulated by
a sinusoidal voltages of amplitude 5 V and frequency of 15 KHz. The
frequency deviation constant is 6 KHz/V. Find

(1) peak frequency deviation (ii) modulation index (iii) Bandwidth (iv)What
power will this FM wave dissipate in 5 € resistance?

Explain Diode detector circuit and Distortion in it in detail.
Explain the Ratio Detector circuit for FM detection.
OR
Explain different characteristics of Radio receiver.
Draw and explain the block diagram of FM receiver.

Explain the Yagi-Uda antenna with neat diagram

Explain the factors affecting to field strength of space wave propagation.
OR

Explain the working of Parabolic Reflector as an antenna and its application.

Explain the following term in brief: (i) Radio Horizon (ii)) MUF
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WsyAalet 9 8.aell w3l 9 82
e 9 87 ellllAls (322let gsul AU
YUR dalslaet A AN, RlaRell vis wugla €131 uxescl.

BRUlA gl A AM. 20l HIZell Ae2o] UH5W dAlRA U Asll A0
U R0l arlue €L
8l Add Ual Al Add HgAete(l uuHell 53U

wYcll
A AU glodeRell gl Aollall [Qgd yals »AR HA 3RaUR
HsAclHl AUA B @R 20A B, Ud As AYel Adl WsyAde sl A
adla 22A &2A ® Al (U) HsYAAst Sodet Wl (o) 8l olly 507
WsyAel recly ABet Ac UGl Aol Acell AA Hollad 3RauRaA
WsYA2 52 cl A cvlcloll Wootloll ([Agd Yals AL

Ag.AMall SIAEL, NGLAEL Wl GUANol ALel wotlal.
AgAH Gauleot HI2 aURlAl w3t Aol vis augld €131 umend
WYl

Q-R3lld wa B-R3lld Aeasl wnemdl.

10V A0H2YS WA 90 MHz wg(Q HRlddl 3RAA 5V AMTASYs U 15

KHz ag(d uRlcdl AsgAssd dwdl (3scll AsyAat sAclalH

A B. (scial (Aot AUNLS 6 KHZ/V B. dl

(i) HeH (Bsalorl 3(Arualst

(i) HUSYAet Bdet (iii) Aos(ASAU (iv) 5 Q WUAAUHL WL WE.AH. dR9L 32A
UloR 2 59A? A .
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Ag. Aol (3252001 HIZel A (32522 URUA AHAL
vl

A RllareAl (QQu ctet@sdl aHestal

Ag. AU, R{laRell vis gl €131 Al

2A10(1-Gel Woolloll 129 gl €] UHLC.

AU Acl YA 2Lotoll (565 ReUA WAR 5l URoLol AHstal.
vl

WAAAs RsAs2Re] Wotall 3} sl AHstcll Aot GUAN QUL

WAAL UEL gsHl UMl (i) ASA S3R\et (ii) AH.Y. A
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